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6. HeFeA

§

AL (2 A, B clztolth)

@O sinA = cos(90° - A)
@ 1-2sin?A =2cos?A-1
@sin(A—i—B) =sinA +sin B

1
tanA  sinAcosA

® (sinA + cosA)? + (sinA —cosA)? =2

@ tanA +

~&B

@ 1-2sin?4A=1-2(1 -cos?A) =2cos?A -1

@ tand + 1 _ sin A c?sA
tan A cos sin
_ sin“A + cos” A
o sinlA cos A
- sin A cos A

® (sinA + cosA)? + (sinA — cosA)?
=1+2sinAcosA+1-2sinAcosA =2
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The F0l EE B x4y o e FoIH?

2Zte sin cos tan

14° 0.2419 0,9703 0.2493
15° 0.2588 0.9859 0.2679
16° 0,2766 0,9613 0.2867

sin x = 0.2766 , tany = 0.2493

O 28° @ 29° @30° @ 31° ® 32°

sinx = 0.2766 .. x = 16°
tany = 0.2493 ..y = 14°
x4 y=16°+ 14° = 30°
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cosA +sin A = 7V_+ 7V§+7
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13. % 229 AABC = AB = lem , /ABC = 90° D
/CAB = 60° ¢! A Zt4tZ-ge]al, AC = CD ©]t}.
o, tan75° & ZH-2?

@2+\/§ @ 1+ V3 ® V3
@ 2+ 2 ® 1+ V2

B

— 1
= = 2
© cos 60 °
o] 5H4Zte DCA |4 LACB = 30° 0|22

/CAD = /CDA =15°

AABD 9|4 tan /DAB = — = BC + CD

S tan75° =2+ V3
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15. o3 I-3 Zo] uYH 919 ¢ 0 & THLRE ot gtz 59
Zo]7F 1 ¢l AFEQ A sin 50° 4 tan 50° — sin 40° 2] ZE-&?

y
1.20 Y
1
A
0.77
50° B D
O 0.64 1

@® 0.21 @ 0.64 ® 1.07 @1.33 ® 2.61

0.77+1.20 - 0.64 = 1.33
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cos(2x + 40°) =

V3 V3
O5 @4

1
2

A o, tan 6x ©] F27 (F, 0° <x<90°)

®1 @«/ﬁ ® 3
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cos60° = = O|BZ 2x 4+ 40° = 60° , x = 10° ©|c}.
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s tan60° = V3




18. oJAPTAA] 2x% —ax+ 1 =0 9] 3F 0] sin 60° — sin 30° & o, A4
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sin 60° —sin 30° =
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19. o5 233 2ol Y 9ol =71 AFh7t

A lek A Aol A =7] Al o] FH 7]
C & 29t 2 Zto] 60° o111, A A A
7] A ke 2 10m Aozt B A A
o A5E @E2uto] AjZETH @ 28 BD 9
Zo]7k6V3m o] 2 28] ZJAR7E 30° A
o, 7] AlgHe] =o] CD & Fotoizt.
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> ®E: 164V3m

~&B

AH =10+ 6V3cos30°
:10+6\/§x§
=19 (m)
— 1
DH:6\/§sin30°:6\/§><§ =3V3 (m)

CH = AHtan60° =193 (m)

. CD=CH-DH=19V3-3vV3=16V3 (m)




20. the 2 Zol WAEY Polrk 1 Q1 ARUA H7tuY] B

Z& | ARl (sin) | AR (cos) | BAE (tan)

45° | 0.7071 0.7071 1.0000

46° | 0.7193 0.6947 1.0355

47° | 0.7314 0.6820 1.0724

48° | 0.7431 0.6691 1.1106
® -0.724 @ -0.6820 ® 0.3903
@®)0.3180 ® 0.6820

CD
= —_— = — = A = °
tanx = | 1.0724 9| A x = 47

BD=0D-0B
AO =1, cosx:gz@
AO 1

~BD=1-cosx=1-0.6820 = 0.3180

= 0.6820




21. x of B3t oA AA 2x2 — 11x +a = 0 9] T 2] sin90° + cos 0°
A o, a O] FZ FotH?

@4 o1 612 eun 61

O AP A A 2x2 —1lx+a=09° x =2 S HYSIH, 2x 22 -
11x2+a=0
8_22+a207 a:14




4y =sin? x - 2sinx + 2 & FHAGI F =327 (T 0° < x < 90°

22.
)
(@ EEHENEFS @ AWgt3, A4 1
® 29k 2, A3k -1 @ A4, A5

® U1, A5 -

B ~
sinx=A (0<A<1)2totH

y=A?2-24+2=(A-1)2+1

A=0¢ o, A3t 2
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0 o YH5H= AABC o4 BC = 8cm &
], cosA X sinA X tan A 2] ZF-&?

1 3 1
@% @3 ® .
@ 3 D5

(A = /A, BA = 12 (cm) o]B2
A’C = V122 - 82 = 45 (cm)
8 2 45
inA = — = — A= — =
sin 12 3’ COs 12
V5 ma— 8 2
3 45 b
o2t A cosA x sinA x tanA o] F2
VB2 2 g
3 3 45 9




25. thg 23} Zo] WHE9] ol 1 9l AHZe] A TD = 0.8 & ui,

OABDC 2] Ed9] Zo]of 300 & &I S 5ot

2t ALl FARI EtHIE
53° 0.80 0.60 1,33
54° 0.81 0.59 1,38
55° 0.82 0.57 1.43
> £
[> Heh: 959

B

sinx = T O]EE x =53°

BA
tan 53° = =S =1.33, cosH3° =

-8

AB — 133.BD = OB-0D = 2,

OA-0C=04

120 = 959

mr2bA] 300 x (DABDC 9] E29] dol)= 399 + 200 + 240 +




